
(Answers at the end of the file)

1. Which of the following references, from the journal "Psychological Studies", follows the APA norms:
A) Diaz, A., & Vallejo, M. Influence of placebo in the treatment of headaches. Psychological Studies, 2011, 31, 53-68.
B) Diaz, A., & Vallejo, M. (2011). Influence of placebo in the treatment of headaches. Psychological Studies, 31, 53-68.
C) Diaz, A., & Vallejo, M. Influence of placebo in the treatment of headaches. Psychological Studies, 2011, 31, 53-68.

2. In what section of the research report would you include all the information regarding the instruments/procedure used in the study?
A) Introduction 	          B) Method		C) Results	

3. If we want to determine the causal relationships on the influence of the shape of a dish (square, round, oval) on the perceived flavor intensity, what research methodology would you use?

A) Correlational	B) Quasi-experimental	C) Experimental				

Abstract. Chronic pain is a major problem in Europe because, as reported in the European study "Pain in Europe", 20% of European population suffers from chronic pain. To evaluate the psychological correlates of pain, we conducted a pilot study with a sample of 50 individuals in Spain. We collected the following variables: age; sex [man, woman]; Perception of Pain [rated on a scale of 1 (minimal pain) to 10 (maximum pain)]; Acceptance of pain [rated on a scale from 1 (minimum acceptance) to 10 (maximum acceptance)]; Neuroticism [rated on a scale of 1 to 50]; impairment of physical/intellectual capacities [assessed by an expert on a scale of 1 (minimal degree of impairment) to 10 (maximum degree of impairment)]; Pain Control (low, moderate, or high).

We present several results from SPSS below.
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4. Of the following variables, which one has a less skewed distribution?
A) Neuroticism		 B) Age 	C) Impairment of Capabilities	   	

5. Anna has a z-score of -1.4 in the variable Age. How old is Anna?
A) 25 y.o. approximately		B) 35 y.o. approximately	 C) 48 y.o. approximately

6. What is the most appropriate graph to represent the relationship between the variables Age and Acceptance of Pain?
A) Scatterplot 	B) box and whisker graph 		C) Histogram
	
7. We want to present an index of variability for the variable Age, which one would you use?
A) 8.235 y.o.		B) 1.265 y.o. 	C) 67.813 y.o.

8. Vanessa’s score in Perception of Pain corresponds to Percentile 20, Peter’s score corresponds Quartile 1 and John’s score corresponds to Decile 8. Who has the higher score in pain perception?
A) Vanessa 			B) Peter			C) John

9. If the most appropriate index of central tendency to describe the variable Age is not the mean but the median, what would be the most appropriate variability (dispersion) measure for that variable?
A) Standard deviation	B) Variance		C) Interquartile range	

10. From the box and whisker diagram of Impairment of Capabilities as a function of sex, you can conclude that, for the women:
A) The Impairment of Capabilities is greater, and the distribution shows positive asymmetry.
B) The Impairment of Capabilities is greater, and the distribution shows negative asymmetry.
C) The Impairment of Capabilities is smaller, and the distribution shows negative asymmetry.
11. In the equation, which is the best predictor for the dependent variable Acceptance of pain?
 A) Perception of Pain       B) Neuroticism	    	C) Age	
	
12. What percentage of the variance of Acceptance of Pain is explained by the regression model? 
A) 94.4%	B) 93%		C) 89%	
13. From the Pearson correlation coefficient between Neuroticism and Perception of Pain, we can conclude that: 
A) The higher the Neuroticism, the lower the Perception of Pain
B) The relationship between the two variables is very weak		
C) The higher the Neuroticism, the higher the Perception of Pain

14. Which of the following claims is true regarding the relationship between PainControl and Sex: 
A) The relationship between the two variables is moderately strong
B) The relationship between the two variables is very strong	
C) The relationship between the two variables is very weak

15. In the regression model, we introduced simultaneously the three predictors…But if we had performed stepwise regression, what predictors would have entered the regression equation?
A)  Perception of Pain and, probably, Age
B)  Perception of Pain and, probably, Neuroticism	     	 
C)  Neuroticism and, probably, Age
-----------------------------------------------------------------------------------------------------------------------------------------------
16. If we have a Student's t distribution with 100 degrees of freedom, the distribution will be virtually...
A)  An F-distribution with 100,100 degrees of freedom
B) An F-distribution with 100 degrees of freedom
C) A normal distribution, N(0,1)     

17. What is the probability of having at least one response correct from a 20-question multiple-choice exam (3 alternatives per question) when we answer all questions randomly?
A) 1- (2/3)20
B) (2/3)20-(1/3)20
C) 1- (1/3)20

18. In a game consisting of rolling a dice (for instance, if a "6" you receive 10 €, if a "5" you receive 7 €, ...), how can we determine if it's worth playing in the long run?
A) By determining the probability density function of the continuous random variable “gain”
B) By calculating the three quartiles in a normal distribution, N(0,1)
C) By calculating the expected value of the random variable “gain”

19. If we have a scatter plot between Solitude and Intelligence and there is a strong relationship but it is not linear, what would you do?
A) I would calculate the Pearson correlation coefficient.
B) I would perform a nonlinear transformation in (at least) one of the variables; if the relationship after the transformation were approximately linear, then I’d calculate the Pearson correlation coefficient.
C) I would transform both variables to standard scores, and then I’d calculate the Pearson correlation coefficient.

20. If we have a variable measured in a nominal scale, what measure/s of central tendency can we compute?
A) Mode		B) None 	C) Mode and Median
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Model Summary
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Model | R Rsquare | Square the Estimate
1 948° 890 883 930

a.Predictors: (Constant), Neuroticism, Age, PerceptionPain
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Coefficients®

Standaraized
Unstandardized Cosficients | Coefficients
Model 5 St Error Beta t sig.
1 (Constant) 10,508 73t 14372 000
PerceptionPain 783 083 803 | -8.080 000
Age -019 o7 058 | 1108 273
Neuroticism 034 019 71 | 1768 084

a. Dependent Variable: AcceptancePain
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PainControl * Sex Crosstabulation

Count
Sex
man [ woman | Total
PainControl Low, 8 8 16
Moderate 10 9 19
High 8 7 15
Total 2 2 50
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Symmetric Measures

Valus__ [ Appiox 510
Norninal by Nominal _Phi 028 981
Cramers V. 028 981

N of Valid Cases

50
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Descriptive Statistics.

W Winimum | Maimum | Mean | St Devialion | Variance Skewness

Stafistic | Stalistic | Staistc | Stafisic | Staustic | Stalisic | Staustic | St Error
Age 50 30 60 | 3708 8235 | 67813 | 1265 337
ImpaimentCapabiliies 50 2 9 5.42 2148 | 4616 | -085 337
PerceptionPain 50 1 10 550 2001 | 8418 000 337
AcceptancePain 50 1 10 458 2721 | 7.408 42 337
Neuroticism 50 7 50 | 2858 13753 | 189147 | 136 337
Valid N (istwise) 50
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Correlations

FercepionFal

n Neuroticism | Ags
PerceplionPain _ Pearson Correlation 1 Ba8" | 211
sig. (24ailed) 000 142
N 50 50 50
Neuroficism  Pearson Correlation 48" 1 013
sig. (24ailed) 000 926
N 50 50 50
Age Pearson Correfation n 013 1
sig. (24ailed) 142 926
N 50 50 50

* Corrslation is significant atthe 0.01 level (2-tailed)





